H & 0l & AHS B Ml A

SN HENRD
M ARXOPNES ST NGZH 263 (EL2Z/HK
Cel: d=27208 KX - HE EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
H=X2 ot 13,995,237 22,457,670 A\8,462,433
Jl 808,706
== 11,197
Al 13,075,334
ARXOPHEE S8 AGZH SdaH (2L 2 /HK) 696,120 1,636,995 A940,875
= 40,000
Al 656,120
d=1202 KX - KA 564,770 1,380,775 /816,005
=S 40,000
Al 524,770
=HUz & d=2720=2 =X - XS 16,870 20,775 A3,905
202 04| 7,720 8,625 A905
01 =LHOHI 7,720 8,625 A905
O=2U - 2 UsIRX ¥ AZX0IE =&
110,000 x2& x2 2 «82] 3,520
O3l Tzl =4l 2 #EYe =X
20,0002 x3Z+72 %102 4,200
203 HF=AY] 9,150 12,150 /3,000
03 A= PR FA| 9,180 12,150 23,000
OAZZOIIEY S HSLPEX
9,150,000 *14] 9,180
FHEHI| d=d=2H018 Ua 25,000 25,000 0
< 5,000
Al 20,000
307 glztol & 25,000 25,000 0
= 5,000
Al 20,000
04 CIZHHAMAIH 2 & 25,000 25,000 0
OMI02! H=HEHEI| 8=Td=ct0ld U
2| =l 25,000,000& x12] 25,000
= 5,000
Al 20,000
Ol== ol 0tctE CHal 89,900 75,000 14,900
< 10,000
Al 79,900
307 elztol & 89,900 75,000 14,900
= 10,000
Al 79,900
04 CIZHHAMAMH 2 & 89,900 75,000 14,900
OHMI183] d==0tctECHE KA
89,900,000& *12] 89,900
= 10,000
Al 79,900
LSEH H==2E HILIAUSE 100,000 100,000 0




2A:

PN
|

M ARXOPNES ST NGZH 263 (EL2Z/HK
Cel: d=27208 KX - HE EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 10,000
Al 90,000
307 lztol & 100,000 100,000 0
= 10,000
Al 90,000
04 CIZHHAMAMH 2 & 100,000 100,000 0
ORNI22e] @S =2 EHLIAUR i
100,000,000& 12 100,000
=S 10,000
Al 90,000
O==HECEHM J18 =283 33 38,000 356,000 3,000
307 212+01& 38,000 356,000 3,000
04 QIZHHAIAIH 2 X 38,000 35,000 3,000
ONS8al =HIEEM I8 8= dU3E
CHa! JH=l 38,000,000 *13] 38,000
H=HSEI| 3= gHBIU= 70,000 60,000 10,000
= 10,000
Al 60,000
307 gl2tol & 70,000 60,000 10,000
=S 10,000
Al 60,000
04 QIZHHAMAIH 2 £ 70,000 60,000 10,000
ONIBsal =A== 8= U2 U=E H
Zl 70,000,000& %12 70,000
< 10,000
Al 60,000
OH=A=46D| &= BHERIE 3 35,000 35,000 0
= 5,000
Al 30,000
307 gl2to| & 35,000 36,000 0
=S 5,000
Al 30,000
04 QIZHHAMAIH 2 £ 35,000 35,000 0
OHM9al H=H=HI| &= HH=ELIEU=2I H
ks 35,000,000 *13] 35,000
[ 5,000
Al 30,000
d= SHAE= ({3 30,000 20,000 10,000
307 elztol & 30,000 20,000 10,000
04 CIZHHAMALRH 2 & 30,000 20,000 10,000
02024 QI2tIATIE 2D E Sg™
30,000,000& *12] 30,000
O==AlZHH 8= OtAHZE =2 20,000 20,000
307 21201 & 20,000 20,000 0




2A:

PN
AZR0OAE

T S S8 XAH BEHSALBB/HS
el d=7208 2 - OHE EER=E)
RA B - SRA(E) - MIRA - BES ofl &4 G o HIDEY
04 QIZHHAIAIH B = 20,000 20,000 0
OHNieal Gi==AIEHH &= OtAEE =S 3
DS 20,000,000& =13 20,000
= AYHUE Sa3II03 80,000 40,000 40,000
307 212+01™ 80,000 40,000 40,000
04 CIZHHAIAIS B & 80,000 40,000 40,000
O2024 H= AHTHIE S43IIU= =
80,000,000& *12] 80,000
H==HAS&D| &= Atglel OFRUEl 20,000 20,000
307 212t01™ 20,000 20,000
04 QIZHFHAIAIHE 2 = 20,000 20,000
ORI118] 04H2H| H2 Algle! 0FR0H3
= 20,000,000& =13 20,000
HE80= JEE e 40,000 40,000
307 212+01™ 40,000 40,000
04 CIZFHAAIS E & 40,000 40,000
OHM12el 880+ D= Ue
40,000,000 *14 40,000
AHE HXEEE =X L KNS 235t 131,350 256,220 A 124,870
dXEEE =X 5,350 6,220 A870
201 Zer2& ] 3,150 3,500 A350
01 AtR2telbl 3,150 3,500 A350
Ot~ 3,150
oAEXE E2 B RO
4,500 %7005 3,150
202 044l 2,200 2,720 AD20
01 =LHO LI 2,200 2,720 A520
Os - otH HXEEE =Xl
110,000 x2& x2 2 x53] 2,200
X edE X2 36,000 160,000 124,000
307 212t01™ 36,000 40,000 A4,000
02 QI AN 2R 36,000 40,000 24,000
O&XEeE X (S - 5t)
36,000,000& 13 36,000
HXEEE 2lOA =l 90,000 90,000
307 212+01™ 90,000 90,000
04 CIZFHAIAIS E & 90,000 90,000
O&Xl=dg cIad Izl
90,000,000& *12] 90,000
MHeEHE SH(2L22/HF) 6,900,874 6,962,553 261,679
Il 808,706
< 71,197
Al 6,020,971
AEd=s |54 & X 2,535,491 2,564,723 N29,232




2A:

PN

HY: MBS S8(25URL/S)
=t XN9Hs =4 & N2 (SH &)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
| 245,504
T 7,680
Al 2,282,307
KNEM=SHAL K& 7,220 7,900 680
201 B2 AY| 2,600 2,800 A200
01 AtR2elt] 2,600 2,800 A200
Oo2g== 2,600
oHSHEESE 39 A =H
100,000 13 23| 2,600
202 0idl 4,620 5,100 A480
01 =LHO4b 4,620 5,100 A480
O2AE U3l BXMST 0 U HES =
& 110,000 *3B x2 73| 4,620
H==AlM=el 29 381,343 306,825 74,518
307 QIZt01A 381,343 306,825 74,518
03 QAN HE2GHIEX 381,343 306,825 74,518
OW==AIM=EE 2923 XA 273,879
SANR=E 55,000
-=0 25,985,400 3 * 14| 25,986
-3 3,174,400 *23| 6,349
= E==l L] 3,174, 4003 x60%*23| 3,810
-AIZIBEZ 5,886,629% * 14 5,887
-gE&= 4,632,000& 14! 4,632
—AlZ2t22 R
12,3212 *30A 2t 1H * 12& 4,436
=] 185,000& *x1H+ 122 2,220
—HAZAH| 140,000& 1E x 122 1,680
o X &AXHE 62,778
-=0 2,959, 1002 x1F +12& 35,510
-3 2,959, 100& 18 *23] 5,919
= E=E=lL] 2,959, 1003 x60%*23| 3,551
-AIZIBEZ 456,180 x 15+ 12& 5,475
-&&3 367,310 x 18+ 12& 4,408
—AlZ2t22 R
11,3193 *30A 2Hx 1B+ 123 4,075
- Az Ex| 180,000& 1H + 122 2,160
—HAZAlH| 140,000 x1H* 123 1,680
S AR IHE 59,352
-=0 33,687,300 14 33,688
—-&0= 2,813,700 1823 5,628
- HESIHI
2,813, 7003 +60%+ 1 H x23] 3,377
-A2EE = 5,043,681& * 14! 5,044




S MSKIRD
Ha: MBS

SH(2HUDL/HS)
el XEHs =4 & A (SH9 H2)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
NEEE 4,175,734%4+14] 4,176
— ARt RRAY
10, 1623 *30A| 2H 1B =123 3,659
- &g Ex| 175,000 x1F + 122 2,100
—HAZAH| 140,000& x 19+ 12 1,680
o X2 & 56,246
-=20 31,466,300 3 14| 31,467
-3 2,656,400 *1Z+23] 5,313
= E==lL] 3,138,420 * 14 3,139
-AIZIBEZ 4,886,502 14 4,887
e 4,000,556 +141 4,001
—NRtel 2R
10, 1622 *30A| 2t +1H » 12& 3,659
=] 175,000 1F + 122 2,100
—HAZAH| 140,000& x1H x 122 1,680
oF¢ 40,503
-=0 21,382,600 14| 21,383
-3 1,789,800& *1E +23| 3,580
= E=E=lL] 2,136,240 * 14 2,137
-5&= 3,437, 2123 * 14 3,438
-&&3 2,720,647 14 2,721
—AlZ2t22 R
9,620 *30A| 2H+1H 123 3,464
s =] 175,000 1E + 122 2,100
—HAZAlH| 140,000 x1H» 123 1,680
O0=AlM=Es 22 XA(HMSHA) 37,464
oxsEH(2Y) 37,464
-= 1,203,000& x2Y*12& 28,872
-gA= 100,250 x2H 12 2,406
-E8= 257, 7203 x2H«12& 6,186
OW==AlM=3l 24|
70,000,000 *14! 70,000
HE &8 dt X 9,000 9,000
307 QIZ2t01A 9,000 9,000
02 QIZHBAAIEER 9,000 9,000
OXIMAE & AEXAE & d=H X
9,000,000& * 14 9,000
detdE M=0ig &0t 270,000 247,000 23,000
307 212+01 A 270,000 247,000 23,000
02 QIZHAAAIEE R 270,000 247,000 23,000
OHNe3g &Metds M=sUsl &t
270,000,000& *13| 270,000
ABIXEZS KA 661,000 673,000 A12,000
301 LB F 661,000 661,000 0




A MK

¥ d2Hs SY(SAL2E/HR)
el NgHs 54 2 A& (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
11 dALEEIXIZE S 661,000 661,000 0
OHMI262! Al2IMEU= SHS E83| 661,000
oFXF 24,000,000 24 S S 576,000
o aH 29,000,000 *1HH 29,000
ogd, StEH 28,000,000 »2JH & 56,000
Sdtl deteds NE g 3,000 3,000 0
307 glztol & 3,000 3,000
02 2IZHB A E £ 3,000 3,000
O2024 St dete MESE ezl £
& 3,000,000& %12 3,000
detge SMMENSUES & 25,000 25,000
307 @20l & 25,000 25,000
02 QA HAIEE X 25,000 25,000
OHM192 dctgr HEMUENSUEE &
It 25,000,000& *13] 25,000
gollot @5 OHAIZ HEXNT usd 10,000 10,000
307 glztol & 10,000 10,000
04 QIZHHAIAIRH 2 X 10,000 10,000
Odgdliet &2 OHAIZ HEH=F wsE N
£ 10,000,000& * 12} 10,000
45 Ul 28 2 A XIS 30,000 30,000
307 gl2to| & 30,000 30,000
02 2B YA R E A 30,000 30,000
02024 & U=l 28 & A K&
30,000,000 *14! 30,000
UBMS TS XIS A BIXI (E2SKIE) 302,414 300,499 1,915
7l 122,752
= 3,840
Al 175,822
307 @I2t01 & 302,414 300,499 1,915
Il 122,752
= 3,840
Al 175,822
02 2IZHBYAIHE £ 302,414 300,49 1,915
OdetdEHMSA A 24 302,414
oMENFNE=N S04
2,142,200 ~8H 122 205,652
Jl 102,826
Al 102,826
oHITHE=S 401,800 ~82*12& 38,573
Jl 19,286
Al 19,287
oXNEA 228 160,000 +8 1,280
Il 640




2A:

PN

¥ d2Hs SY(SAL2E/HR)
&2l NEds s4 2 X3 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 640
cUIDRLY U FARRLY
79,8202 x8H 8! 5,109
o2l 50,000 8 * 122 4,800
ol =H| 300,000 82 *13] 2,400
UL 300,000 «8H = 12& 28,800
ocEEFIHI 350,000 x8H *23] 5,600
oS A2 100,000 x8&*12& 9,600
& 3,840
Al 5,760
o8&+E 50,0008 x1&* 122 600
HEMMEHSXI A BHXI(ZSXIY) 301,814 299,899 1,915
Il 122,752
= 3,840
Al 175,222
307 el2tol & 301,814 299,899 1,915
) 122,752
< 3,840
Al 175,222
02 2IZHB A E & 301,814 299,899 1,915
Oool2dl dEH=sAEN 29 301,814
o2 MBHSAEN S
2,142,2003 -8~ 122 205,652
Jl 102,826
Al 102,826
oHERY=S 401,800 x8H 12 38,573
7l 19,286
Al 19,287
oA=L ES2EER 160,000 8% 1,280
Jl 640
Al 640
ogidZZrY & FUIFE
79,8202 x8H 8! 5,109
o2l 50,0002 8 * 122 4,800
ol =H| 300,000 82 +13] 2,400
UL 300,000 «8H*12& 28,800
ocEEFIHI 350,000 x8H *23] 5,600
oSS A2 100,000 x8E*12& 9,600
< 3,840
Al 5,760
AMRIAZSE T2 2 25,000 27,600 22,600
307 elztol & 25,000 27,600 22,600
02 2IZHBYAIHE & 25,000 27,600 A2,600




A X2
M MEHE S4(2L22/HS)
el XEHs =4 & A (SH9 H2)
RA B - SRA(E) - MIRA - BES ofl &4 G o HIDEY
OAlglAZdSd 22 ) 25,000
SXER 49 2 2|
25,000,000 *14! 25,000
Ol==Al2I2|2/ZH] &l HILIA Tzl 10,000 10,000 0
307 212+01& 10,000 10,000
04 QIZHHAIAIE E & 10,000 10,000
ON2ral td==Al23 2 ZHE A28 HILIAHE
= 10,000,000& *13] 10,000
O==Al2S| ol & D128 =73 12,000 12,000 0
307 212told 12,000 12,000
04 QIZHHAIAIH 2 = 12,000 12,000
OHMI143l t==Al2lz2 &t =I128 |+
2 JHE 12,000,000& *13] 12,000
gdog dEM=UzE 30,000 30,000 0
307 212+01™ 30,000 30,000
04 CIZHHAIAIS E & 30,000 30,000
ON27el Ssg MEH=SHE
30,000,000 *13] 30,000
AZIIU=2 W= 149,000 139,000 10,000
307 212t01™ 149,000 139,000 10,000
04 QIZHHAIAIH B & 149,000 139,000 10,000
OAIZD|HEl & ZEITE] W= (28HE =)
149,000,000 x 14! 149,000
Ol==AIEHH AR HHSTHS 6,000 6,000
307 212+01™ 6,000 6,000
04 CIZFHAAIS B2 6,000 6,000
OXI18=l 0d=AlZEH AlIE! BI=ST=2l JH=
6,000,000 *12] 6,000
SEXE HOIESUE 4,700 5,000 A300
307 212t01™ 4,700 5,000 A300
04 QIZHFHAIAIH 2 = 4,700 5,000 A300
02024 S2XS HOIEE W2l HA
4,700,000 12l 4,700
024l etXi2 E+0g 10,000 10,000 0
307 212+01™ 10,000 10,000
04 CIZFHAAIS E & 10,000 10,000
Q20248 K24l etXE S izl
5,000,000 23] 10,000
Ol==AI2 THEH HEA 9,000 9,000 0
307 212t01& 9,000 9,000
04 QIRFHAIAIH 2 = 9,000 9,000
O2024 KH==Al REAN THE CHREX JHE
9,000,000& %12l 9,000
gdod NHEAl =2SR LelE 5703 4,700 5,000 A300




SN SR
¥ d2Hs SY(SAL2E/HR)
el XEHs =4 & A (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
307 lztol & 4,700 5,000 A300
04 CIZHHAMAIRH 2 & 4,700 5,000 A300
0224 & -2 NH=Al = - SST LelE
=02 A 4,700,000 *12] 4,700
RN - = dEHS UFH Zt 10,000 30,000 A20,000
307 @12to| & 10,000 30,000 /20,000
04 QIZHHAMAIH 2 £ 10,000 30,000 /20,000
ON48] 0 Al - 2(K==, =3, 2, Fol) Mg
s Wsd Fot 10,000,000 x 12l 10,000
H==tiEaldtl susSstl AX=3E Hi720U2 4,000 4,000 0
307 lztol & 4,000 4,000
04 QIZHHAMAIRH 2 X 4,000 4,000
O2024 K==t St S 0SSt AX=
28 U3 4,000,000& *12 4,000
2187 =8 Ual = 18,000 20,000 22,000
307 gl2to| & 18,000 20,000 /2,000
04 QIHHAMAIH 2 £ 18,000 20,000 22,000
O2024 oy =8 Ul =l
18,000,000 x12] 18,000
O==AlMI= Il 3te stote AL 30,000 30,000
307 elztol & 30,000 30,000
04 QIZHHAIAIRH 2 & 30,000 30,000
02024 A=Al M=l =t8t et
30,000,000& *15] 30,000
He=AXXSEAMY |4 K& 192,300 200,000 7,700
307 el2to| & 192,300 200,000 7,700
02 2IZHBYAIHE A 14,300 0 14,300
ONEMSE sfdd+ & X=X X3
14,300,000 * 14! 14,300
03 M EE2SHIEx 178,000 200,000 22,000
ON=ZB3AZ=SY 29 &
62,300,000 * 14| 62,300
OFadE=AE =0l 2FC U-18 XI&
115,700,000 *14] 115,700
SIWAAE (BHES-HILIA) AZXZYE MY 2(201 20,000 20,000 0
XIX‘I}\}C‘Q)
307 @I2t0| & 20,000 20,000
02 QB HANEER 20,000 20,000
OStnoAE (B ES-HILIA)ALXZY 2
g X 20,000,000& *14{ 20,000
AT |4 & 2AHS X2 1,341,148 1,331,344 9,804
Jl 563,202
== 63,517
Al 714,429
0N M=SAL X2 1,760 2,040 2280




2A:

PN

M MEHE S4(23L2Z/HR)
& FoHeids 88 L A2H3 XA (CH9: &S1)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
202 0idl 1,760 2,040 A280
01 =WHO4bI 1,760 2,040 A280
O2AZ HOIQIMSHAL BIAE 0z L
sSEHE F& 110,000 x2Z x2 2 +43| 1,760
H==AlE R M=3 29 210,083 200,619 9,464
307 212+01™ 210,083 200,619 9,464
03 IZIHXEHE2IHIE X 210,083 200,619 9,464
OXMeIM=a 293 XA 170,083
OAR=E 55,276
-=20 2,174,400 18122 26,093
-&0= 3,174,400 x 1 +23] 6,349
-GES0HI 3,174,400 60%*23| 3,810
—AslEE& 484,440 x 18+ 12& 5,814
-&x3 399,810 x1Z»12& 4,798
ARt RRAY
12,5313 +30A1 2H+1H =123 4,512
- &ZEx| 185,000 x1F + 122 2,220
— g Al 140,000& x 19+ 12& 1,680
o X+& 61,109
-=0 2,867,400 x1H +12& 34,409
-&0= 2,867,400 1523 5,735
—-GES0HI 2,867,400 x60%*23| 3,441
-AIZIBEZ 437,260 x 18+ 12& 5,248
-gA= 363,350 x 15+ 123 4,361
ARt RRsY
11,3193 +30A 2H+ 1B = 123 4,075
- &ZEx| 180,000& x1F + 122 2,160
—HAZAH| 140,000& x 15+ 12 1,680
o & 53,698
-=0 2,489,500 x1H + 12& 29,874
-a03 2,489,500 * 123 4,979
—GESOHI 2,489,500 x60%*23| 2,988
-AIZIBEE 382,010 x 18+ 12& 4,585
-&&3 319,4003x 14+ 122 3,833
—AlZ2t22 R
10, 162&*x30A| 2t +1H * 12& 3,659
- & ZEx| 175,000 1F + 122 2,100
—HAZAH| 140,000& x 19+ 12 1,680
OO M=3 24|
40,000,000 *14] 40,000
&A= ZoHe! M=sUs 6,500 6,500
307 212+01™ 6,500 6,500
02 QIZHA A AL E X 6,500 6,500




2A:

PN

¥ d2Hs SY(SAL2E/HR)
SR HUIME S4 & 2005 X2 (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
ORMl442] 8= Z0HS MU=l &It X2
6,500,000& 12 6,500
dctg s o=z 110,000 110,000
307 gl2to| & 110,000 110,000
02 QIZHEAAEE X 110,000 110,000
OHMIRs dMetdE ZofeI MU &dt X
110,000,000& *13] 110,000
ES2E &= YHUMFUE 15,000 15,000 0
307 elztol & 15,000 15,000
02 2B A HE L 15,000 15,000
O2024 =8 A= JUAMFU=I K= L
=4 15,000,000 » 14 15,000
dg sotel MEial 6,000 6,000 0
307 el2to| & 6,000 6,000
02 2IZHBYAIHE A 6,000 6,000
OHM24a] &g =02 M=l ot
6,000,000& 12 6,000
detd AIZIEMe! M= 4,000 4,000 0
307 212+01& 4,000 4,000
02 LB HANHEE 4,000 4,000
OHMI62l Hetee A MAMFHR &t
4,000,000& *12] 4,000
detg e Z0Hel HEMFU 20,000 20,000
307 el2to| & 20,000 20,000
02 2IZHBYAIHE & 20,000 20,000
O2024 Hetde oMM ==l ot Al
! 20,000,000 *12] 20,000
o MEM= XA BHXl X 225,043 224,443 600
Jl 91,584
= 2,880
Al 130,579
307 @20l & 225,043 224,443 600
Il 91,584
= 2,880
Al 130,579
02 2IZHBYAIHE A 225,043 224,443 600
OYMIYEHNFAEA 29 225,043
oMENFXNE=X S04
2,142,2002 6E 122 154,239
Jl 77,119
Al 77,120
oHITHE=S 401,800 6H 122 28,930
Il 14,465
Al 14,465




2A:

PN

¥ d2Hs SY(SAL2E/HR)
SR HUIME S4 & 2005 X2 (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
cozREAY U FURLLY
2,874,0002 %14 2,874
oE8d+d 50,0002 x1& 122 600
cHESIMH 350,000 x6H *23] 4,200
o2 3| 50,000 6 * 122 3,600
oll=H| 300,000 x6H «13] 1,800
=01l 300,000 6 *12& 21,600
oESAE| 100,000 x6& * 122 7,200
s 2,880
Al 4,320
O==Al HOHQ! dEH=UZ 29,000 27,000 2,000
307 glztol & 29,000 27,000 2,000
04 QIZHHAIAIRH 2 & 29,000 27,000 2,000
ORNI262] O{==Al SO HSM=U=2] H=E
29,000,000& *13] 29,000
= O HAALR (3] 17,800 20,000 22,200
307 el2to| & 17,800 20,000 2,200
04 QIHHAMAIH 2 £ 17,800 20,000 2,200
ORMI58] = HE M M=Z0HRIHAAIL
=[5 U IR - OJOIEO{HAATR M2
palB k=) 17,800,000 * 12l 17,800
SHAI(O =, =&, 2Y) ZHAYENS uFd 10,000 10,000 0
307 212+01& 10,000 10,000
02 B AAHE L 10,000 10,000
O2024. 3MHAI(Ol==, =8, Z) ZOHIHSH=
wnsd ot 10,000,000& *13] 10,000
M3zl Od==Al - Al H0HR! HS23 AHWFH 9,400 5,000 4,400
307 elztol & 9,400 5,000 4,400
04 QIZHHAMALH 2 & 9,400 5,000 4,400
ORMI32l O4==Al ~ BFAl 02! ME23t &
HduEH FHot 9,400,000& %12 9,400
ZoHele el 2,820 3,000 A180
307 @I2t01 & 2,820 3,000 A180
04 QIZHHAIAIH E X 2,820 3,000 A180
ORNI32l O{==AIEIIHH SOHASHS
2,820,000& %12 2,820
AH AT 018A X2 601,921 601,921 0
Jl 421,344
< 54,173
Al 126,404
301 LELE NS 601,921 601,921 0
Jl 421,344
=S 54,173
Al 126,404




2A:

PN

M MEHE S4(23L2Z/HR)
Cel HOHRIHE |4 & AANST N (St &)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
01 Al B& XS Z2(2REETA) 601,921 601,921 0
OAZ=2E 0124 XA
601,921,000& 14! 601,921
| 421,344
= 54,173
Al 126,404
ool AXAX0IZH KA 71,821 71,821 0
| 50,274
= 6,464
Al 15,083
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= 6,464
Al 15,083
01 A 2&HSEZ(FREETR) 71,821 71,821 0
Q&R AZ=2A 012A K&
71,821,000 * 14 71,821
| 50,274
& 6,464
Al 15,083
studs =4 ¢ N2 210,600 325,800 A115,200
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